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TREL R ELT, R x ZHIbETH—1LD
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o R ICABDERE

RSW 1 DI AR (hypercube)ZzALYS.
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P h

1 max|x" <1

W(x) =
L) {o Zh st

IN—E B
(Parzen window function)
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IN—EUBRETEHELONS p(x) [TAER:.
% B % (kernel function) K(x) : /& h7EEE L

IDK(x)dx:I K(x)>0forallxe D

%2 [E #E = ;% (kernel density estimation
method):

— X. - .
(x) = E K ! h 18 (bandwidth)
P(x) = nhd ( j
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N0 A%
K(x)= (2;)0”2 exp(—1x'x)
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— g1k
p)=— ZK( xij

IBZx—2DMND/I\TA—A ) THIEHT BHEE
EFAVIAYIAY

1Z47 5 (bandwidth matrix) H :IE{Ex#
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ﬁ(x)—nuﬂZK(H (x — x))
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/DN _ERXEMEEE()
Px) DESERDIBHE FEH —FHE

(integrated squared error)
ISE() = |, (p(x)= p(x)) dx
= [ (p)f dx—2] p(x)p(x)dx+ [ (p(x))dx
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m 15
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EE—IJ\ %xﬁﬁﬁnu/f (2)

p;(x) : ) BEDIREREZHTEICFEHT [T
ZEHE R THEL-HREERK

pj(x)—(n 1)|H|ZK(H (x — x))

py(x) & | p)p(x)dx DHEEITIESTIND.
_wgém) jIZDNTEYTHELY L
;E Fonbd. ;ij(x N

D REZTR/INZFEREMHE L (least-squares
cross-validation method)&L Y.
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/N _EREMRE(3)

EEDIRD B
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IWIN—TDAHE
H =diag(h,,h,,....,h,)
EDHERZEBRBAELSBOLTWNERS M
DIZE, NOAR%BE#OZENE 1, 1,

1/(d+4)
hj z((d_l_z)nj O CT IERR T D7 EL
o, il FEEADSIETE

A~ () —(1))2 ) = Z (j)
%) _\/ ( t
n— 1 i=1

—NETILIN—T DA E(Silverman’s
method)&LY?.




